110-11"
107-3" PAY LIMIT
14 SPACES @ 7-4 1/2" = 103-3"
fe— | — | ————————29"-11 1/2" 29'-11 1/2" 29'-11 1/2" 20'-11"
N 9-11 1/ TN 911 1/ T 0-11
Fx. JT. Ex. JT. Fx. JT
Expansion T T 1 1 1 1 | 1 TT 1 1 1 | T1 | Expansion
Joint [ | 1 I Joint
|| 11 T Pl 1 11 M| L1 r || || L1 L1 11 [} 11
I il 1y AL LL i . It Iy L ol AL Ll L P L Y AL L I 1
—
2711 12" WEST RAILING FACING WEST 181" |
110" EAST RAILING SIMILAR 1'-10"
le—13"-10" ( ) UL T) (O S—
(o BILL OF MATERIAL
o
- TEMlarv | ParT & DESCRIPTION ASTM DESIGNATION
1 N
14" 7 1 | 30 [0033.03610 |W6x25, THREE RAIL POST @ 2'-9° 0OA ON 1 1/4x10xi—2° B.P. |A572 Gr. 50
2" 10" o SECT'ON A-A 2 | 2 [003322800 |HSS 3’ X 5° X 1/4” RAIL e 27'-11 1/2" A500 Gr. B
L | 172 3 | 2 |0033.3000 |HSS 3° X 5° X 1/4" RAIL @ 29'-11 1/2’ AS00 Gr. B
2 & EN o { 4 | 2 [003321811 |HSS 3 X 5° X 1/4” RAIL e 18'-11" A500 Gr. B
| h " % < S | 4 [0033.63000 [HSS 6 X 6° X 3/16° RAIL @ 29'-11 _1/2’ AS00 Gr. B
g" g 6 | 8 [003353000 |HSS 6 X 6" X 3/16° RAIL @ 29'-11 1/2° AS00 Gr. B
10" |1 1/16" (4x) 10" - — 7 | 4 |003362011 |HSS 6* X 6" X 3/16* RAIL @ 20'-11” A500 Gr. B
& $/ h 5776 P 8 | 6 [003300840 |2-1/8" X 4-1/4" FIX. SPLICE BAR @ 2'-3’ A572 Gr. 50
v /\p W Q} 9 | 12 [0033.00640 [HSS S* X 5 X 5/16” FIX. SPLICE TUBE @ 2'-3” AS00 Gr. B, AS72 Gr. 50
! 10 | 30 [003300220_|3/8" X 10° X 14° ANCHOR PLATES A572 Gr. 50
n . . .
1/8" FABRIC PAD HOLE FOFH"/ e WPS-3008 11_| 30 (003390050 |t/8” X 10° X 14” FABRIC PAD AASHTO M251
N 12 |122*[0042.21013 |8 1 X 13’ ANCHOR STUDS, W/ 2 1/4° THD. EACH END 3449 TYPE 1
DIA. ANCHOR OF POST 13_|242x]0080.1890L |9 1* HEAVY HEX NUTS A563
STUD (TYP
(TYP.) ! 14 | 120 [0080.18911 @ 1 FLAT WASHERS F436
1 12" . 15 | 120 |0080.18905 |8 1 HEX JAM NUTS AS63
1'-8" 16 | 120 |0080,07500 |# 7/8" X 8 ROUND HEAD BOLT, NUT, SG. WASHER, L.W. 8449, AS563, F436, ASME DI8.2
3" . 17 | 30 [0080.06400 |8 3/4° X 8° HEX BOLT, NUT, (@ F.W., & LW. A325, AS563, F436, & ASME DI8.2
| 5] I 112 18 | 60 |0080.06140 |# 3/4° X 2-3/4’ HEX BOLT, NUT, <@ F.W. & LW, A325, AS563, F436, & ASME DIB.2
' e —_i 19 | 48 |0080.06340 |9 3/4° X 7-1/2° HEX BOLT, NUT, & (@ F.W. A325, AS63, & F436
» H—— | —[ - 20 | 24 [0080.06255 |¢ 3/4° X 4-1/2’ HEX BOLT, NUT, & (@ F.W. A325, AS63, & F436
2.._T &' | j 21 | 30 [0033.00500 |L5° X 5° X 5/8° RAILING ANGLE @ 6’ AS72 Gr. 50
—4ry ! | T - t Round 22 | 18D DELINEATORS ~ NOT_SHOWN (SUPPLIED BY CUSTOMER)
L~ ! B | ¢ of Roun \ %-2 EXTRA FOR VDAT TESTING
H 1 " " 3“ 1 1/2" ®1_1"'\ 3 - Head Bolt W‘th
SS 6" x 6" x3/16 6" s = Hex Nut, GENERAL NOTES:
> nf — v N I ! Washer and 1) ALL RAILING IS TO BE FABRICATED AND ERECTED ACCORDING TO SECTION 525 OF THE STANDARD SPECIFICATIONS.
W6 x 25 | | Spring Lock 2) PRIOR TO GALVANIZING THE ASSEMBLED POST, GRIND ALL EDGES TO A MINIMUM RADIUS OF 1/16".
6" org ' Washer 3) ALL POST SHALL BE SET NORMAL TO GRADE. THE MAXIMUM CENTER TO CENTER SPACING OF BRIDGE RAIL POST IS 8' 3".
29 X 4) SECTIONS OF RAIL TUBE SHALL BE ATTACHED TO A MINIMUM OF TWO BRIDGE POSTS AND PREFERABLY TO AT LEAST 4
_____ N (Typical) POSTS.
I L5" x 5 x 5/8" & ! 5) RAIL TUBE EXPANSION JOINTS SHALL BE PROVIDED IN ANY RAIL BAY SPANNING THE END OF AN INTEGRAL ABUTMENT
HSS 5" x 3" x 1/4" _@: i 5" x 8" x OTO BRIDGE AND AT ALL SUPER STRUCTURE EXPANSION JOINTS. EXPANSION JOINT WIDTH SHALL BE 4'@ 68°F AND WILL BE
x 3" x ™ 1 e Railing Angle \ 1 1/2" ADJUSTED IN THE FIELD BY THE ENGINEER FOR OTHER TEMPERATURES.
\~ | r | 6) STD. SPLICE HOLES ONLY IN BRIDGE RAIL TUBES. REST TO BE DRILLED BY CUSTOMER. FIELD DRILLED HOLES TO BE
101316 +————— ——s—->" | @ pm=———— —_— = COATED WITH AN APPROVED ZINC-RICH PAINT PRIOR TO INSTALLATION.
—@ - 3" <[> -2--@& - 5 7) BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT-LB).
12" x 1-1/4" x 10" P—_———— e e o] 8) SEE STANDARD DRAWING G-I FOR DETAILS OF DELINEATORS. A DELINEATOR SHALL BE INSTALLED AT 30 FOOT SPACING
Base P 5'— } i OR THE NEAREST POST. WHITE IS TO BE INSTALLED ON THE DRIVER'S RIGHT. FOR ONE WAY BRIDGES, YELLOW IS TO BE
ase Plate \ 17" . : A INSTALLED ON THE DRIVER'S LEFT. PAYMENT FOR DELINEATORS SHALL BE INCIDENTAL TO OTHER [TEMS.
1/8* FABRIC PAD\I _ﬁ_ [ .ﬁl 9) ANY BENDING OF RAIL SHALL BE DONE AT THE FABRICATION PLANT ACCORDING TO A PROCEDURE PROVIDED BY THE
M ] | [ . 1] FABRICATOR.
i1l I 1 I|| III 10) THE MINIMUM DISTANCE FROM THE POST TO AN EXPANSION JOINT SHALL BE DETERMINED BY THE MINIMUM EDGE
ol : : I I (4) @ 1" x 13" ANCHOR STUDS H H B|SsET§NoE OF 5" FROM ANY ANGHOR STUD TO THE END OF THE SLAB, OR THE EXPANSION JOINT RECESS POUR, IF ONE IS
e o b W/ 21/4" THD. EACH END & i ! il 11) PROTRUSIONS CAUSED BY WELDING OR GALVANIZING ARE NOT PERMITTED ON THE ADJOINING SURFACES OF THE
(2) HEAVY HEX NUTS, BOX BEAM RAILS, SPLICE TUBES AND FILL PLATES.
L 1) JAM NUT _l 12) THIS RAILING MEETS THE REQUIREMENTS FOR A TL-4 SERVICE LEVEL.
{ m F = ( ) c = == = =2
1 AND (1) WASHERS EACH | <§ ITEM #: 525.335 | SHEET 1 OF 2
\{ OF RAILING ANCHORAGE APPROVED BY: BR]DGE RA[L DETA[LS SHEET
I WARREN BRF 013-4 (32), VT ROUTE 100 (MINOR ARTERIAL) BRIDGE # 166
TOWN OF WARREN, COUNTY OF WASHINGTON, VT.

RINO., | DATE DESCRIPTION BY| R |NO.| DATE DESCRIPTION BY|
E E
ELEVATION v v
' e
SECTlON FLDERLEE,INC. <A v T
STEEL BRIDGE RAILING 04KS CORNERS, NEW YORK 14678 SCALE | SCHEWATEG

Tel:315-789-6670 Fax:316-789-6615 DRAWING NO. F.R. LaFAYETTE-WARREN




SPLICE BAR - FIXED

1
op—{—
23" 15y il i Rt =4
o I + i =
1 ol % , 103 —! ——10%1 [EE-A e [ N I R O (Y A vy n__.______g
g Typ. 10 45— " 3
421"yp ~—8%" - 2 2 2 iy PLAN
[ S S N # — (e o I o o) = FIXED TUBE SPLICE ASSY.
L/ . " W " v u
1 yp: r—J’/ 1) A o = E— 5"X5"X 516" @2'3 Centerline of @ 1"
1 PLAN Galvanized Tube in Top & Bottom of
1n oz . =
4 8 PLAN \ '35" Qenterllne of @ 1" 5" X 3" X 1/4" Tube (Typ.)
an in Top & Bottom of \
A1 X218 X 2 5" 5"X 3 i( 1/4" Tube (Typ.)  _, , ) 4 é ;/;1 ;?ds)e Fill Plate
Galvanized Bar | | | | 2 | . L
[H HH HH A - —
I I - ) -] i ] [l ] i
ELEVATION (4) 3/4" Fully Threaded Bolts. 4 1/2" Long I | | | ELEVATION (4) 3/4" Fully Threaded Bolts. 7 1/2" Long
FIXED BAR SPLICE ELEVATION (ASTM A325, TYPE 1) 2 Washers and a Heavy WPS 3009 | i i i e — (ASTM A325, TYPE 1) 2 Washers and a
- FIXED BAR SPLICE ASSY. Hex Nut on each Bolt. Nut to be Finger Tight FIXED TUBE SPLICE ASSY.  Heavy Hex Nut on each Bolt. Nut to be Finger
and the First Thread below the nut to be v, Tight and the First Thread below the nut to be

damaged A.O.B.E.. 4 Bolts at Each Splice. damaged A.O.B.E.. 4 Bolts at Each Splice.

4" x 1/4" x 26" Fill Plate

ELEVATION
e Fixeo spLIcE TUBE SPLICE TUBE - FIXED
10
BRIDGE POST DETAIL » 0"
|“2"—° =
L2 e &
g" “‘ "
4 5 /mbo .
/ F— ] =
A g" & & | Spring Lock Washer
';’E{ijn“ﬁé%ﬂ% WPS-3008 14" | 21/2" 3/16" x 2" x 2" Washer
" ’ / "
. 11/2"- Hex Nut 7180 7\ /8" —j}— ~11/2" —|f~1/8
I-LZ" |-1 12" |_|:|—1 1720 7" 3 5 ||||||||||
-+ —O ” i‘{Z" 2" 5" U/
i ¢ i o | 84 5/8" -1 3"~ ‘ gv l 5 = [—3"
iR “ \01—%" (x2) ‘ 2" . ) I I e
20 /2" 1l \\ " ' (; -69- 1 ' T Ti /8
og| | Tess ! | A ROUND HEAD BOLT
2.7 3/4" 25 172" “ - B - 9\ @1 3/16"
I 13 2) 10" \ _/ " ~
1 1 . ii 0//-0— " ' /—81 1/1 6 (4)() (3X) ITEM #: 525.335 | SHEET 2 OF 2
15, " ‘d} " ]
o ii o//% " - LS X 5 X /8 APPROVED BY: WARREN BR@@!Q(QEV‘IR:{C])gL DETAILS SHEET
A 2 TE 100 (MINOR ARTERIAL) BRIDGE # 166
:: 3 RAILING ANGLE TOWN OF WARREN, COUNTY OF WASHINGTON, )VT
I Il :_1 e ‘ H ‘ L-s—" ROADSIDE 2 NO. DATE DESCRIPTION BY| R [NO.| DATE DESCRIPTION BY]
} } {001 I ] |
€ T 1T T T T T T ] v
10— T ! l ;é’]ﬁ)‘ DRAWN EP. 4/24/14
ELDERLEE,INC. [N CHECKED | D.L. 224714
ANCHOR PLATE O0AKS CORNERS, NEW YORK 145 APPROVED | . :
E—-Mail: dlong@elderlee.com SCALE SCHEMATIC
Tel:315—-789-6670 Fax:8315-789-6615 DRAWING NO, F.R. LaFAYETTE-WARREN




WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE#1

Material Specification A572 GRD. 50 /A992-06a
Welding Process FCAW

Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL

Filler Metal Specification A5.20

Filler Metal Classification E70 LINCOLN OUTERSHEILD

Flux N/A
Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50 CFM
Single or Multiple Pass SINGLE (45 TO 63 CFM)
Single or Multiple Arc N/A
Welding Current DC
Polarity DCEP-
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature NONE
Heat Input Min Max
'+ WELDING PROCEDURE.
Pass Electrode Welding Current Travel Joint detail
no. size Amperes Volts speed
1 3/32 390 27 12

Variable LIMITS 351 25 11 /__1}
_ TO TO TO 1/

429 29 13

12"

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3008 Contractor Elderlee, Inc.

Revision No. Authorized By RANDY SCOTT

Date 5/29/2013




y10z/02/e oled

LLOOS AQNVY Ag pazuoyiny ‘0N U0ISIASY

"OU| ‘@s|lep|g  Joenuo) 600¢ "ON 24npaooid

‘G UONORS U) LaAIB sa|gelieA
JO uoneywy ey uiyym oo ‘ezis ssed ‘dn-}l} 'sousnbaes uonesiige) o} anp Aiea Aeut einpaoold siy |

T/
ol ee 69¢
oL Ol oL
¢l L2 84 SLIKM elqeleA
A 14 0Lg 9L/l L
paads SIOA saladuly EYA ‘ou
freyep uor [OARL | JuBLING BUID[BAL apo.os|g ssBd
'THNAIO0Hd ONIATIM
Xew WA indu) 1een
ANON ainjetadws jeayisod
5’14 ainjesedws | ssedisiul pue Jesysid
g'La juswijeal] 100y
HAONIMLS uojssaibold Buipjopn
JALLISOd 3d0¥103713  ISHIATY felod
od uaung Buipjapn
JIDNIS o1y e|dnin Jo e|Buig
ATONIS ssed s|dpin 1o 8|buig
H400G 8iey Mol 4 9300y iod meq ¢ 00 seg Buipjsius
VIN xn|d

PHM-OLIN-LLI8T  uonesyisse|D el Jelild

6¢ 9V uopeolosds [ejep Jo||1d

TY.LNOZIMOH/LY 1 Buipiapn o uojisod
DILYNOLNVINGS aulyoeN Jo [enuely
O-MVYD4 88900.d BuIp[oA

8 ¥ 006V Ol 60.Y uopesyoads |elslely

€4 33743073 HOd
NOILVOIdIO3dS JUNAIO0Nd ONIAT1aIM




